

# Guys & Gals Tournament (Women Division Div 1) Parkway Bowl March 30, 2025

## **Prize Fund Based on 10 Entries**

11 Bowler Entries x \$35.00 = \$385.00 <u>Total Income = \$385.00</u>

\*Lineage 30 games @ \$4.00 = \$120.00 Tournament expenses @ \$3.00 per entry = \$33.00 Total Expenses = \$153.00

#### Payout 1/4

### Total prize fund = \$232.00

	\$232.00	Total
3.	\$45.00	Janeece Tanaka
2.	\$72.00	Felecia Mack
1.	\$115.00	Gayle Nguyen

### Prize fund pay-out \$232.00 Balance 0.00

\*1 entry was a no show.



# Guys & Gals Tournament (Women Division Div 2) Parkway Bowl March 30, 2025

### **Prize Fund Based on 9 Entries**

9 Bowler Entries x \$35.00 = \$315.00 <u>Total Income = \$315.00</u>

\*Lineage 24 games @ \$4.00 = \$96.00 Tournament expenses @ \$3.00 per entry = \$27.00 Total Expenses = \$123.00

#### Payout 1/4

Total prize fund = \$192.00

\$125.00 Cheenee Real
 \$67.00 Diane Pfeiler
 \$192.00 Total

## Prize fund pay-out \$192.00 Balance 0.00

\*1 entry was a no show.



# Guys & Gals Tournament (Mens Division 1) Parkway Bowl March 30, 2025

## **Prize Fund Based on 10 Entries**

10 Bowler Entries x \$35.00 = \$350.00 <u>Total Income = \$350.00</u>

Lineage 30 games @ \$4.00 = \$120.00Tournament expenses @ \$3.00 per entry = \$30.00Total Expenses = \$150.00

#### Payout 1/4

Total prize fund = \$200.00

<u>\$200.00</u>		<u>Total</u>
3.	\$40.00	David Giron
2.	\$60.00	Andreas Pamaran
1.	\$100.00	Edder Ramirez-Nino

Prize fund pay-out \$200.00 Balance 0.00



# Guys & Gals Tournament (Mens Division 2) Parkway Bowl March 30, 2025

## **Prize Fund Based on 22 Entries**

22 Bowler Entries x \$35.00 = \$770.00 <u>Total Income = \$770.00</u>

\*Lineage 63 games @ \$4.00 = \$252.00 Tournament expenses @ \$3.00 per entry = \$66.00 Total Expenses = \$318.00

#### Payout 1/4

### Total prize fund = \$452.00

	<u>\$452.00</u>	<u>Total</u>
5.	\$42.00	Armando Cisneros Sr.
4.	\$60.00	Michael Heinzman
3.	\$85.00	Dave Paulsen
2.	\$115.00	Jason Phillips
1.	\$150.00	Mathew Wray

## Prize fund pay-out \$452.00 Balance 0.00

\*1 entry was a no show.